
الاستاذ:
ياس؈ن دحام

تجرȎʈية علوم الثانية السنة
المثلثات وحساب الموجهة الزوايا حول ملخص

حمزة بن سليمان المقاوم ثانوʈة
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الشهيرة القيم جدول
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− x) = sinx

sin(
π
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
cos(π + x) = −cosx

sin(π + x) = −sinx
cos(π − x) = −cosx

sin(π − x) = sinx

نتــــــائج
cos(x+ 2kπ) = cosx

sin(x+ 2kπ) = sinx
cos(−x) = cosx

sin(−x) = −sinx
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
cos(a+ b) = cosa.cosb− sina.sinb

cos(a− b) = cosa.cosb+ sina.sinb


cos(−π

2
− x) = −sinx
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
cos(−π

2
+ x) = sinx

sin(−π

2
+ x) = −cosx

sinx = sina ⇔


x = a+ 2kπ

x = π − a+ 2kπ

cosx = cosb ⇔


x = b+ 2kπ

x = −b+ 2kπ


sin(a− b) = sina.cosb− cosa.sinb

sin(a+ b) = sina.cosb+ cosa.sinb

−1 ⪯ cosx ⪯ 1 , −1 ⪯ sinx ⪯ 1 , cos2x+ sin2x = 1


